September - 2010, Subject: Maths, Class - VII
Time: 3 Hrs. M.Marks: 100
Note : Teacher should provide required material for activity. Give extra 20 min. for activity.

(Part-I)
Note: All questions are compulsory. Each question carries three marks.

Q.1 Write a rational number whose numerator is 3=5 and denominator is -£=2.

.2 Multiply and simplify : ;—: and E

ek | —

1
Q.3 Simplify and find its reciprocal : E +

A Find decimal f f—
0 ind decimal form o 100

P
(0.5 Write in the form of E

[5 |
7
Q.6 Find the value of 577
Q.7 Find the value of *a” if 17% of a is Rs. 68.
Q.8 Ifprinciple = Rs 120, rate=T%, simple interest = Rs. 560. Find time.
Q.9  Solve the equation : 7x+5=2x+10
Q.10 Aladder 15 meter long set against wall and just reaches a window at a height of 12 meter. How
far is the lower end of ladder from the base of the wall?
OR
Fill in the blanks :
1) Medians of a A are .............
2) Ina AABC if £B=90" then the orthocentre of AABC be lies on o.............
3)  All the medians of a A meet each other at one point and this point is called .......... of the
triangle.
(Part-11)

All questions are compulsory. Each question carries 4 marks.
Q.11 Write in the simplest form of the following rational numbers.

2 B 45
(i) 0 (ii) 7
-3 7
Q.12 Which is the greatest rational number of the following pairs : ? ; -_ﬁ
Q.13 Simplify : E +I + E
3 6 9



Q.14 Find the value of L.
. = :
il walue o E 3

P
.15 Add the numbers and write it in the form of E .

-5.3 and 2.5
OR
Write 5,82 10" in usual form.

Q.16 By selling a table for Rs. 819 a shopkeeper loses 9%. Find the cost price of a table.

Q.17 The length of shadow of a tower 24 meters high is 20 meters. Under same conditions find the
height of a tree, the length of whose shadow is 15 meters.

(118 Arshdeep obtained 372 marks in an examination. If he gets 62% marks find the maximum marks.
OR
Find rate if P=Rs.900, S.1.=270, T= 10 yrs,

Q.19 Using rule of congurency, which rule is applied in the following figures.
A

Q.20 Construct a triangle in which DF= 4.2 cm. £E=90° and EF=3.% cm.

(Pari-11T)
All questions are compulsory. Each question carries 6 marks,

(AR AR A
Q.21 IF(E] K[E] =[E] find the value of x.

.22 If 12 is subtracted from thrice the number we get 18. Find the number,

Q.23 A rectangular park is 94 meter long and 50 meter wide. There is a 3 meter wide path outside
around the park. Find the area of path.

.24 Working 4 hours a day Sunny can copy a book in 15 days. How many hours a day should she
work 0 as to finish the work in 12 days? A ) 8

(.25 In given figure AB||DC and AB=DC.
1) Is ZBAC=DCA?T Why?
i) Is AABC = ACDA by SAS congruence?
OR
By activity show that sum of all angles of a triangle is 180° 5 : &
(Required material : Glazed paper, Scissors, Fevicol gum, Gemometry box)
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